
Lesson  A # 10 

Rämulu Gajaväòa, Saàskåtam  Teacher 

 

Application of 6th  declensions of nouns, pronouns. 

(Genitive case endings) of/among 

Nominative (singular)   Genitive (singular)  

A h m !  aham  = I    m m   mama  = Mine   

T vm !  tvam  = You    tv  tava  = Yours 

tt!  tat  = That          tSy   tasya  = Of that   

s> saù = He    tSy   tasya  = His 

sa sä = She      tSy a>  tasyäù  = Hers 

ram >  rämaù  = Räma       ram Sy   rämasya  = Räma's 

n &p >  nåpaù  = King         n &p Sy  nåpasya = King's 
 

x a t v >  x a t v >  x a t v >  x a t v >  dhätavaù = Verbal roots,            i ³ y a p d a i n  i ³ y a p d a i n  i ³ y a p d a i n  i ³ y a p d a i n  kriyäpadäni = Verbal forms,     
Verbs  (singular ,  present tense).    

tu; !  tuñ  = to please   tu: y ai m   tuñyämi  = I please (1st p sing.) 

tafœ  täò  = to beat  tafy i s  täòayasi  = You beat (2nd p sing.) 

Jvl!  jval  = to burn,  Jvli t  jvalati  = burns (3rdp sing.) 

trœ  tar  = to cross        tri t  tarati  = crosses  (3rd p sing.) 

d{fœ  daëò  = to punish    d{fy i t daëòayati = punishes (3rd p sing.) 

 da  dä  = to give      ddai t  dadäti  = gives  (3rd p  sing)   

i dz !  diç  = to guide      i dz i t- te diçati-te = guides (3rd p sing) 

xav!  dhäv  = to run      xavi t  dhävati  = runs (3rd p sing) 

i n Ô a  nidrä  = sleep      i n Ô ai t  nidräti  = sleeps (3rd p sing)   
 



% d a h r [ a i n   % d a h r [ a i n   % d a h r [ a i n   % d a h r [ a i n   udäharaëäni  = Examples 
 

Genitive  Subject  Object   Verb 

 

1.   ram Sy       p uÇ >    ¢ am <        gC D i t 

      rämasya     putraù   grämaà       gacchati 

Räma’s son goes to the village. 

     ram Sy      p uÇ aE      ¢ am aE     gC D thœ   

      rämasya     putrau      grämau    gacchatah  

Räma’s two sons go to two villages. 

2.   k«: [ Sy      sevk>      A ñ<       p Z y i t 

      kåñëasya     sevakaù      açvaà       paçyati     

Kåñëa’s servant sees the horse. 

      k«: [ Sy       sevkaE        A ñ aE        p Z y t>   

      kåñëasya      sevakau       açvau        paçyataù 

Kåñëa's two servants see two horses. 

     k«: [ Sy       sevka>       A ñ an !        p Z y i N t   

       kåñëasya      sevakäù       açvän        paçyanti   

Kåñëa's servants see the horses. 

  

3.    n &p Sy      Ët>      gj <     n y i t 

     nåpasya     dütaù      gajaà    nayati 

King’s messenger leads the elephant. 

     n &p y ae>      ËtaE       gj aE        n y t>   

       nåpayoù      dütau       gajau        nayataù   

Two messengers of two kings lead two elephants. 

     n &p a[ a<     Ëta>      gj an !       n y i N t   

       nåpäëäà     dütäù      gajän       nayanti   

The messengers of kings lead the elephants. 



    Subject  Genitive  Object   Verb 

 

4. v v v v an r>      A ñ Sy       k[ ¡       r]i t     

    vänaraù     açvasya      karëaà       rakñati 

The monkey protects the ear of the horse. 

    van raE       A ñ y ae>       k[ aER        r]t>   

      vänarau      açvayoù       karëau        rakñataù   

Two monkeys protect the two ears of two horses. 

    van ra>      A ñ an a<      k[ aRn !         r]i N t   

     vänaräù     açvänäà      karëän         rakñanti   

The monkeys protect the ears of the horses. 

 

Translate the following sentences into English and recognize each 

word and their case endings as, subject, object, verb and the genitive 

case. 

1.  m xusUdn Sy  A n uj > n gr< gC D i t,  

    madhusüdanasya anujaù nagaraà gacchati| 

2.  dz rwSy  p uÇ > ram >. 

daçarathasya putraù rämaù|| 

3.  k«: [ Sy  i m Ç < A j uRn >. 

    kåñëasya mitram arjunaù|| 

4.  n &p Sy  A ñ > xavi t. 

    nåpasya açvaù dhävati|| 

5.  dz rwSy  p uÇ > vn < gC D i t. 

    daçarathasya putraù vanaà gacchati|| 

 

 

 

 



Translate the following sentences into Saàskåtam. 

 

1. Kåñëa’s son goes to the cottage. 

2. Räma’s son conquers the elephant. 

3. The king’s servant leads the horse. 

4. The servant salutes the foot of the messenger. 

5. The monkey remembers the body of the goat. 

6. The scholar gives the son’s food to the traveller. 

7. The jackal smells the hand of the monkey. 

8. The son takes away the horse of the traveller. 

9. Govinda’s son runs here. 

10.  The elephant drinks the horse’s water. 

11.  The monkey takes away the fruit of the horse. 

12.  The horse eats the food of the elephant. 

13.  Where is the boar’s home? 

14.  The servant’s son lives there. 

15.  I read Madhusüdana’s book. 

16.  I see Kåñëa’s house. 

 

x a t v >   x a t v >   x a t v >   x a t v >   dhätavaù   (i ³ y a p d a i n  i ³ y a p d a i n  i ³ y a p d a i n  i ³ y a p d a i n  ----     kriyäpadäni)= Verbal roots, verbs. 

gC D œ gacch  (gC D i t gacchati) = to go, p Z y ! paçy  (p Z y i t paçyati) = to see,  

n I  né, n y ! nay   (n y i t nayati) = to lead, to take, r]! rakñ (r]i t rakñati) = 

to protect, xav! dhäv  (xavi t dhävati) = to run, j y ! jay (j y i t jayati) = to 

conquer, n m ! nam  (n m i t namati) = to salute, Sm rœ smar (Sm ri t smarati) 

= to remember, i j º! jighr (i j ºi t jighrati) = to smell, h rœ har (h ri t 

harati) = to take away, i p b! pib  (i p bi t pibati) = to drink, o adœ khäd  

(o adai t khädati) = eats, p Q œ paöh  (p Q i t paöhati) = to read, 

    



z B d s <¢ h >  z B d s <¢ h >  z B d s <¢ h >  z B d s <¢ h >  çabdasaìgrahaù = Vocabulary  

 

p uÇ > putraù = son, ¢ am > grämaù = village, sevk> sevakaù = servant, A ñ > 

açvaù = horse, n &p > nåpaù = king, Ët> dütaù = messenger, van r> 

vänaraù = monkey, k[ R> karëaù = ear, i m Ç m ! mitram = friend, vn m ! 

vanam = forest, p adm ! Pädam = foot, deh > dehaù = body, A j > ajaù = 

goat, p aN w> pänthaù = traveller, gj > gajaù = elephant, j lm ! jalam = 

water, ) lm ! phalam = fruit , A ah arm ! ähäram = food , vrah > varähaù = 

boar, p uStkm ! pustakam = book, 

 

 


